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Introduction

In TSG-RAN WG4#19, R4-011301 asked for some clarifications about the initial convergence of the downlink power control. The purpose of this document is to propose a CR for implementing the clarifications and consensus within TSG-RAN WG4.

The following discussion is a recall of the discussion in R4-011301 where the clarifications from R4#19 were inserted.

Discussion 

A – It is unclear how the 50 ms averaging must be performed, and how statistics on the averaging filter output are performed?

Proposal:
A sliding rectangular window filter is assumed with a window size of 50 ms.

Furthermore the filter output is sampled every slot at time instant t=n(Ts, where Ts = (10/15)ms, and the “more than 90% of the time” requirement means “for more than 90% of the filter output samples when the test is run once only”. 

Clarification : the above proposal was agreed within TSG-RAN WG4.

B – Shall the downlink DPCH_Ec/Ior power measured values during the first 10 ms be used or discarded for averaging?

Proposal:
We assume that they should be used for averaging.

Clarification : the above proposal was not the original intention. First 10 ms shall not be used for averaging and thus shall be discarded.

C- During the first 50ms of the test, the averaging filter rise time is not complete. So, if we consider a constant window size filter, the output of the filter would be dependant on the averaging window memory initial value. The same problem would occur with any constant filtering function: the initial filtered values would depend on the initial state of the filter, ie its state before any sample is inputted to it. 

So the question is:

· Shall we use a constant filtering function ?

· If yes,

· Do we consider the filter output from t=0, or do we exclude the initial filter convergence period from the test ? This seems not to be the case, as the T1 phase starts before the first 50ms.

· If the initial filter convergence period is not excluded from the test, then how shall the averaging filter be initialised ?

Proposal:
We assume that we don’t use a constant filtering function. Instead, the averaging window size is variable for the 50 first ms and equal to the time interval from t=0 to the current time (rise time phase).  This is illustrated on the figure below. By having a null window size at t=0, the filter does not need to be initialised.
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Clarification : the above proposal is agreed within TSG-RAN WG4 with a minor change which consists in excluding the first 10 ms from the rise time phase.

Conclusion

See attached CR.
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